AW ' AWN * AWP 1p67 ALUMINIUM ENCLOSURE

AW-:AWN-AWP series are highly functional aluminium enclosures which are IP67 rated with heat
dissipating heat-sink fins.

34 sizes available. Standard, Flanged, Shielding, and Silicone protector types are available.

Suitable for LED power supply, industrial camera, controller or measuring instrument where
waterproof and cooling performance are crucial.

APPLICATION EXAMPLE

LIQUID LEVEL SENSOR

Product by Watty Corporation (Japan)

HEAVY DUTY PORTABLE
HARDNESS TESTER

Product by DEMEQ (Argentina)

oooo

RADIO-CONTROLLED ELECTRONIC EXPLODER rroduct by CODETEL (France)

OPTICAL PHASE INTERROGATOR
OUTDOOR LED POWER SUPPLY (OPI) DEVELOPMENT KIT

Product by Broadcom Limited (USA)

155



FBG DATA LOGGER DATA LOGGER with 3G
Product by NAGANO KEIKI (Japan) MODEM REPORT FUNCTION

Product by mSolution (Hong Kong)

FNAGANG KEnig —

PIN HOLE DETECTOR

Product by SANKO ELECTRONIC LABORATORY (Japan)

PD ANNUNCIATOR DC CONVERTER

Product by ndb Technologies (Canada)

ndhb

PD Annunciator

CUSTOM LENGTH AVAILABLE

Flexible frame length from 50mm to 700mm in
1mm intervals.

No minimum order quantity and short lead time
for small quantity order.

156



AW SERIES IP67 FLANGED ALUMINIUM ENCLOSURE

EMC
Shielding
Effects

= |P67 and heat dissipation enclosure. Designed with flanged end panels. Technical Data

= PCB or chassis is mounted by sliding it horizontally into an inner-grooved body frame. Protection class: IP67

= Designed for a tough environment where waterproof and heat countermeasures are required. Operating temperature: -40°C ~ +105°C
. . . Recommended torque:

= Suitable for outdoor use such as LED power supply and junction boxes. 1.0N * m (10kgf * cm)

Normal N type Components

“ Flanged end panel 2 Diecast aluminium ADC12 Metallic gray * Black / Powder coated
n Body frame 1 Extruded aluminium A6063S-T5 Silver « Black / Anodized

n Gasket 2 Silicone Black

n Screw 8 Stainless steel Unfinished

EMC Shielded E type Components

o | aneme e | Mews | Coorimer
“ Flanged end panel 2 Diecast aluminium ADC12 Silver « Black / Painted (unfinished inside)

[ 2 | Body frame 1 Extruded aluminium A6063S-T5 Silver « Black / Anodized

n Gasket 2 Silicone Black

“ Screw 8 Stainless steel Unfinished

Normal - N type Color type

.

Metallic gray / Silver Black / Silver Black / Black

N]e]s] N|B[s] N|B]B]

PP

Silver / Silver Black / Silver Black / Black

The inside of the end panels are unfinished for shielding. E E E E E E

Q,

)

s

157



o o m Drawings below are reference examples only.
AW dimensions DXF/DWG/PDF drawings available on our website.

B-B(1:1)

AA(1:1)
- =%
9 C
oL Bi=—
‘ o
w | L |
Product no. / Dimensions m Please suffix color code at the end of the product number.
w0 [ L | a2 | b | | Wi |
AW 5-4- 7] 54.6 38.6 65 85 39 225 2.3 128.5
AW 5-4- o[ ][][] 54.6 38.6 85 105 39 225 23 149
AW 5-4-11]0] 54.6 38.6 110 130 39 225 2.3 175
AW 5-4-14[]]] 54.6 38.6 135 155 39 225 2.3 201.5
AW 7-7- 8] 65.8 70.8 80 106 47 51 25 294.5
AW 7-7-1000 65.8 70.8 110 136 47 51 25 350
AW 7-7-15[][] 65.8 70.8 150 176 47 Sl 25 424.5
AW 7-7-200](] 65.8 70.8 200 226 47 51 25 517
AW 7-7-25[ ][] 65.8 70.8 250 276 47 51 2.5 610
AW 8-5- o[ 1[] 80.8 50.8 90 116 62 31 25 289.5
AW 8-5-12[]J[] 80.8 50.8 115 141 62 31 2.5 330.5
AW 8-5-14[]][] 80.8 50.8 140 166 62 Bl 25 372
AW 8-5-18[J1[J 80.8 50.8 175 201 62 31 2.5 429.5
AW 9-9-100]][] 86.3 92 100 129 66.5 66.5 &) 560.5
AW 9-9-13[ ][] 86.3 92 125 154 66.5 66.5 3 633.5
AW 9-9-17][] 86.3 92 170 199 66.5 66.5 3 764.5
AW 9-9-22(][]] 86.3 92 220 249 66.5 66.5 B 910.5
AW 9-9-28[]][] 86.3 92 275 304 66.5 66.5 ] 1,071
AW11-6-11JC] 106.3 62 110 139 86.5 36.5 8 526.5
AW11-6-15[1]] 106.3 62 150 179 86.5 36.5 3 625
AW11-6-19[ 1] 106.3 62 190 219 86.5 36.5 3 723.5
AW11-6-24 ][] 106.3 62 240 269 86.5 36.5 8] 847
AW12-8-11[]J[] 120 77 105 134 100.2 B{IES 8 614.5
AW12-8-14[][] 120 77 140 169 100.2 51.5 8 720.5
AW12-8-17[]CJC] 120 77 179.5 208.5 100.2 51.5 3 840
AW12-8-22[ ][] 120 77 215 244 100.2 5.5 3 947.5
AW16-9-14[ ][] 156.3 87 135 164 136.5 61.5 3 945.5
AW16-9-18[ 1] 156.3 87 175 204 136.5 61.5 3 1,092.5
AW16-9-23[ ][] 156.3 87 225 254 136.5 61.5 3 1,275.5
AW16-9-28[ ][] 156.3 87 275 304 136.5 61.5 8] 1,459
AW21-9-17][] 206.3 87 170 199 186.5 61.5 3 1,303
AW21-9-21]] 206.3 87 210 239 186.5 61.5 8 1,473.5
AW21-9-26[ ][] 206.3 87 260 289 186.5 61.5 3 1,686.5
AW21-9-311] 206.3 87 310 339 186.5 61.5 3 1,899.5

Accessories (Optional parts)

Mounting plate'/AWC series Hexagon socket head screw HCS series Cable gland Pole mounting bracket SSK series Protective vent PMF series
See page 170 See page 170 See cable gland pages See page SSK-M-1 ~ SSK-M-3 See page PMF-1 ~ PMF-3

158



AW « AWN » AWP - AWA frame

AW/AWNS-4-0O
AWAS5-3-00

m Drawings below are reference examples only.
DXF/DWG/PDF drawings available on our website.

AW/AWN/AWP7-7-0
AWAG-6-0

275
1.75

1.75

AW/AWN/AWP9-9-O

AW/AWN/AWP8-5-0
AWA8-4-0 AWAB8-8-0
) 53 , 4-M3
B F.J* N cis - f g
— 62 | ©
g 2 = s 3 < =
% ~| + PN
~ f 3
68
75

AW/AWN/AWP11-6-0 AW/AWN/AWP12-8-0

AWA10-5-0 AWA12-7-00
822
4-M4
‘ 685 4m4 / _
° ! —
0| <
&
= 86.5 ) 1002 \g
2 o 0 Jdl g
2 i 8 c35 s 5| 8
-
s 4
T R
‘ 92.2 ?:
100 -
| 1059
1137

167



AW/AWN/AWP16-9-0 AW/AWN/AWP21-9-0
AWA15-8-0 AWA20-8-O0
118.5
4-M4
3 ) 168.5 ) 4-M5
136.5 E{ ‘ ‘ :
o {ﬂ 186.5 ?E
R
~
‘ | gl 8 190.8 ‘-T \ﬁ‘\;-
142.2 } S~ |
150 | 200
2 Thermal resistance test condition
* Ambient air cooling
* Heat-sink fins are set perpendicular to
the ground with temperature at 60°C.
* Anodized aluminium extrusion
* Heat source is applied on the opposite
side (inner side) of the fins.
Product no. Frame *Thermal resistance rate (°C/W)
AW 5-4- 7 AWN 5-4- 7 - AWA 5-3- 5 49.2 11.2
AW 5-4- 9 AWN 5-4- 9 - AWA 5-3- 7 69.2 9.18
AW 5-4-11 AWN 5-4-11 — AWA 5-3-10 94.2 7.64
AW 5-4-14 AWN 5-4-14 - AWA 5-3-12 119.2 6.63
AW 7-7- 8 AWN 7-7- 8 AWP 7-7- 8 AWA 6-6- 7 64 4.41
AW 7-7-11 AWN 7-7-11 AWP 7-7-11 AWA 6-6-10 94 815
AW 7-7-15 AWN 7-7-15 AWP 7-7-15 AWA 6-6-14 134 2.83
AW 7-7-20 AWN 7-7-20 AWP 7-7-20 AWA 6-6-19 184 2.33
AW 7-7-25 AWN 7-7-25 AWP 7-7-25 AWA 6-6-24 234 2.02
AW 8-5- 9 AWN 8-5- 9 AWP 8-5- 9 AWA 8-4- 8 74 5.97
AW 8-5-12 AWN 8-5-12 AWP 8-5-12 AWA 8-4-10 99 5.01
AW 8-5-14 AWN 8-5-14 AWP 8-5-14 AWA 8-4-13 124 4.37
AW 8-5-18 AWN 8-5-18 AWP 8-5-18 AWA 8-4-16 159 3.76
AW 9-9-10 AWN 9-9-10 AWP 9-9-10 AWA 8-8- 9 81 3.1
AW 9-9-13 AWN 9-9-13 AWP 9-9-13 AWA 8-8-11 106 2.63
AW 9-9-17 AWN 9-9-17 AWP 9-9-17 AWA 8-8-16 151 212
AW 9-9-22 AWN 9-9-22 AWP 9-9-22 AWA 8-8-21 201 1.79
AW 9-9-28 AWN 9-9-28 AWP 9-9-28 AWA 8-8-26 256 1.54
AW11-6-11 AWN11-6-11 AWP11-6-11 AWA10-5-10 90.6 4.52
AW11-6-15 AWN11-6-15 AWP11-6-15 AWA10-5-14 130.6 3.62
AW11-6-19 AWN11-6-19 AWP11-6-19 AWA10-5-18 170.6 3.08
AW11-6-24 AWN11-6-24 AWP11-6-24 AWA10-5-23 220.6 2.64
AW12-8-11 AWN12-8-11 AWP12-8-11 AWA12-7- 9 85.6 3.6
AW12-8-14 AWN12-8-14 AWP12-8-14 AWA12-7-12 120.6 2.93
AW12-8-17 AWN12-8-17 AWP12-8-17 AWA12-7-17 160.1 2.47
AW12-8-22 AWN12-8-22 AWP12-8-22 AWA12-7-20 195.6 2.18
AW16-9-14 AWN16-9-14 AWP16-9-14 AWA15-5-12 115.6 2.64
AW16-9-18 AWN16-9-18 AWP16-9-18 AWA15-8-16 155.6 2.2
AW16-9-23 AWN16-9-23 AWP16-9-23 AWA15-8-21 205.6 1.86
AW16-9-28 AWN16-9-28 AWP16-9-28 AWA15-8-26 255.6 1.63
AW21-9-17 AWN21-9-17 AWP21-9-17 AWA20-8-15 147.8 2.3
AW21-9-21 AWN21-9-21 AWP21-9-21 AWA20-8-19 187.8 1.99
AW21-9-26 AWN21-9-26 AWP21-9-26 AWA20-8-24 237.8 1.72
AW21-9-31 AWN21-9-31 AWP21-9-31 AWA20-8-29 287.8 1.54

168



Accessories (Optional parts)

MINIUM MOUNTING P E

APPLICATION EXAMPLE

m Material: Aluminium A1050P t=1.5/ Silver anodized
= Mounting plate for AW, AWN, AWP, and AWA series enclosures.
m Utilize for mounting PCB, power supply, terminal blocks, etc.

= DXF/DWG/PDF drawings available on our website.

Product no. / Dimensions

38.9 49.2 AW + AWN 5-4-7 « AWA 5-3-5 W e
AWC 5- 9 38.9 69.2 AW+ AWN 5-4-9 « AWA 5-3-7 T
AWC 5-11 38.9 94.2 AW « AWN 5-4-11 « AWA 5-3-10 I
AWC 5-14 38.9 119.2 AW + AWN 5-4-14 « AWA 5-3-12
AWC 7- 8 47 64 AW « AWN « AWP 7-7-8 < AWA 6-6-7
AWC 7-11 47 94 AW + AWN « AWP 7-7-11 « AWA 6-6-10
AWC 7-15 47 134 AW + AWN « AWP 7-7-15 « AWA 6-6-14
AWC 7-20 47 184 AW « AWN « AWP 7-7-20 « AWA 6-6-19
AWC 7-25 47 234 AW « AWN « AWP 7-7-25 « AWA 6-6-24 o
AWC 8- 9 61.8 74 AW + AWN « AWP 8-5-9 « AWA 8-4-8
AWC 8-12 61.8 99 AW « AWN « AWP 8-5-12 « AWA 8-4-10
AWC 8-14 61.8 124 AW + AWN + AWP 8-5-14 « AWA 8-4-13
AWC 8-18 61.8 159 AW + AWN + AWP 8-5-18 « AWA 8-4-16
AWC 9-10 66.5 81 AW +« AWN « AWP 9-9-10 « AWA 8-8-9
AWC 9-13 66.5 106 AW + AWN + AWP 9-9-13 « AWA 8-8-11 I
AWC 9-17 66.5 151 AW +« AWN « AWP 9-9-17 « AWA 8-8-16
AWC 9-22 66.5 201 AW « AWN « AWP 9-9-22 « AWA 8-8-21 4-R2
AWC 9-28 66.5 256 AW + AWN « AWP 9-9-28 « AWA 8-8-26
AWC11-11 86.5 90.6 AW « AWN + AWP11-6-11 « AWA10-5-10
AWC11-15 86.5 130.6 AW « AWN « AWP11-6-15 » AWA10-5-14
AWC11-19 86.5 170.6 AW + AWN + AWP11-6-19 « AWA10-5-18
AWC11-24 86.5 220.6 AW + AWN + AWP11-6-24 « AWA10-5-23
AWC12-11 100.2 85.6 AW « AWN « AWP12-8-11 » AWA12-7-9
AWC12-14 100.2 120.6 AW + AWN + AWP12-8-14 « AWA12-7-12
AWC12-17 100.2 160.1 AW « AWN « AWP12-8-17 « AWA12-7-17
AWC12-22 100.2 195.6 AW + AWN « AWP12-8-22 « AWA12-7-20
AWC16-14 136.3 115.6 AW + AWN + AWP16-9-14 « AWA15-8-12
AWC16-18 136.3 155.6 AW + AWN + AWP16-9-18 « AWA15-8-16
AWC16-23 136.3 205.6 AW « AWN « AWP16-9-23 « AWA15-8-21
AWC16-28 136.3 255.6 AW + AWN + AWP16-9-28 + AWA15-8-26
AWC21-17 186.1 147.8 AW « AWN « AWP21-9-17 « AWA20-8-15
AWC21-21 186.1 187.8 AW + AWN « AWP21-9-21 « AWA20-8-19
AWC21-26 186.1 237.8 AW « AWN « AWP21-9-26 + AWA20-8-24
AWC21-31 186.1 287.8 AW + AWN + AWP21-9-31 « AWA20-8-29

HCS SERI HEXAGON SOCKET HEAD SCREW

= Hexagon socket head screws for fastening the end panels of AW and
AWN enclosures.

m Utilize for tamper-resistance functionality or for an elegant sleek look.

o Product no. / Dimensions

L T T N T T

HCS3-128 Stainless steel
HCS4-128 4 12 6] Stainless steel 8
M HCS5-128 5] 12 4 Stainless steel 8

170



Accessories (Optional parts)

SSK SERIES POLE MOUNTING BRACKET

= Stainless steel pole mounting bracket.

= Welding onto stainless steel case can be performed to maintain waterproof ability.

= Use PKB mounting belt (see page PKB-1) for installation onto a pole.

SSK dimensions

SSK-P50 60 + 75 * 80

= Use SSK-B series screws (see page SSK-M-2) for installation on diecast aluminium box.

= DXF/DWG/PDF drawings available on our website.

SSK-P100 + 120

SSK-81 3x13 hole n p p p
I‘I“ — w w
| v o 2-c hole 2 a A 2-c hole
\ & ) b | 2-c hole
‘,:I ; :b j = ./f '/
5 o5 LAJ 4R1 SH—D— F 18 —H— [ ( = e
AZ 4R2 7 2-R2.75 4-R2 |
i o ol
= 28 28
i 3 F =
R = T v ‘ %
T ™ oo fi 7
w ¥ ¥ +
SSK-160 ~ 250 /:l SSK-280 ~ 350
W w
a a
. ‘ 2-hole I b | 2-hole
| T T o« ”I
B }'/ﬂ ite g 11 T 8
o0 130 b
e — 60
2 Y|~
| 3 LA
& [ | o 48 ( — I \C ]
} [ N
SSK-400
374 n
354.5
305.5 2-hole
@ C Ed
o — O
5N
200
60 35
S .
@, +
w0 / Cb o
o~ . )
o 2-M6 %.:J
o~
SSK-530
484 .n
462 4-7x9 hole

N;C:

39.5

25

17.5

2.5

SSK-M-1

©




Accessories (Optional parts)

Components

_ Bracket 2 Stainless steel SUS304 Barrel finish
2

[ 2 | Mounting bracket (SSK-P models only) ASA UL94HB White gray

Product no. / Dimensions

SSK-S1 32.25 18.25 14 PKB-10PM, 10P, PKB-10S 4
SSK-P50 50 445 37.5 5.5%x 9 PKB-10PM, 10P, PKB-10S 2
SSK-P60 60 54.5 47.5 5.56x 9 PKB-10PM, 10P, PKB-10S 2
SSK-P75 75 69.5 55.5 5.5x12.5 PKB-10PM, 10P, PKB-10S 2
SSK-P80 80 74.5 64.5 5.5x10.5 PKB-10PM, 10P, PKB-10S 2
SSK-P100 100 88.1 76.5 5.5x11.3 PKB-10PM, 10P, PKB-10S 2
SSK-P120 120 106.5 88.5 5.5x14.5 PKB-10PM, 10P, PKB-10S 2
SSK-160 142 129.5 106.5 = PKB-10PM, 10P, PKB-10S 2
SSK-170 152 142.3 101 - PKB-10PM, 10P, PKB-10S 2
SSK-200 174 161.5 112.5 - PKB-10PM, 10P, PKB-10S 2
SSK-210 192 180.5 131.5 = PKB-10PM, 10P, PKB-10S 2
SSK-250 230 215.5 166.5 = PKB-10PM, 10P, PKB-10S 2
SSK-280 260 244.5 195.5 - PKB-10PM, 10P, PKB-10S 2
SSK-300 280 264.5 215.5 - PKB-10PM, 10P, PKB-10S 2
SSK-350 324 302.5 253.5 = PKB-10PM, 10P, PKB-10S 2
SSK-400 374 354.5 305.5 = PKB-20S 2
SSK-530 484 462 380 7x9 PKB-20S 2

SSK-B SERIES MOUNTING SCREW SET for SSK

= Mounting screw set for use with SSK pole mounting bracket.
u See below chart for appropriate screw / box combination.
= Material / Finish : Stainless steel / Unfinished.

Product no. / Dimensions

SSK-B4-15N
SSK-B4-25N
SSK-B5-8T

SSK-B5-15N
SSK-B5-25N

M4-15 Pan head with nut
M4-25 Pan head with nut
M5-8 Binding head tapping
M5-15 Pan head with nut
M5-25 Pan head with nut

AW5-4-7 ~ AW8-5-18
BDN9-9-6, BDN10-14-7
HQ series

AW9-9-10 ~ AW21-9-31
BDN12-22-8, BDN16-26-9

R R

= |nstallation Example

M4/M5 Pan head with nut fastening

M5 thread fastening

SSK-B5-8T SSK-B4-15N SSK-B4-25N
SSK-B5-15N SSK-B5-25N
SSK-B5-35N SSK-B6-40N

SSK-M-2



Accessories (Optional parts)
POLE MOUNTING BRACKET / SCREW SET MATCHING CHART

BDN series AW series
Screw set
o v
9-9-6 SSK-P75 SSK-P100  SSK-B4-25-N 5-4-7 — SSK-P100  SSK-B4-15N
son 10147 SSK-P80  SSK-160  SSK-B4-25-N 5.4.9 _ SSK-P120  SSK-BA-15N
12-22-8 SSK-P100  SSK-250 SSK-B5-25-N 5.4-11 _ SSK-160 SSK-B4-15N
16-26-9 SSK-160 SSK-280 SSK-B5-25-N 5.4-14 _ SSK-200 SSK-B4-15N
HQ series 7-7-8 SSK-P50  SSK-P120  SSK-B4-15N
Sorew set 7-7-11 SSK-P50  SSK-160  SSK-B4-15N
Product no. 7-7-15 SSK-P50 SSK-210 SSK-B4-15N
10-10-5 « 10-10-7 SSK-P50 = SSK-B5-8T 7-7-20 SSK-P50 SSK-250 SSK-B4-15N
15-10-5 « 15-10-8 SSK-P80 SSK-160 SSK-B5-8T 7-7-25 SSK-P50 SSK-300 SSK-B4-15N
15-11-3 SSK-P100 SSK-160 SSK-B5-8T 8-5-9 SSK-P75 SSK-160 SSK-B4-15N
Ha 16-16-6 « 16-16-8 SSK-170 SSK-170 SSK-B5-8T 8-5-12 SSK-P75 SSK-160 SSK-B4-15N
19-10-5 - 19-10-7 - SSK-200  SSK-B5-8T 8-5-14 SSK-P75  SSK-200  SSK-B4-15N
20-15-3 » 20-15-5 + 20-15-9 SSK-160  SSK-210  SSK-B5-8T e svn | s | sudiimy
26-18-6 EELE N 9-9-10 SSK-P75  SSK-160  SSK-B5-15N
27-17-7 « 27-17-10 SSK-170 SSK-280 SSK-B5-8T 0-9-13 SSK-P75 SSK-170 SSK-B5-15N
SSM « SSB series = Installation should be done by welding. 9-9-17 SSK-P75 SSK-250  SSK-B5-15N
AW 9-9-22 SSK-P75 SSK-280  SSK-B5-15N
. 9-9-28 SSK-P75 SSK-350 SSK-B5-15N
121508 SSK-S1 — 11-6-11 SSK-P100  SSK-160 SSK-B5-15N
151508 152206 152210  SSK-160 = 11-6-15 SSK-P100  SSK-210 SSK-B5-15N
SSM 00010 202806 11-6-19 SSK-P100  SSK-250  SSK-B5-15N
598 202812 223312 Ssk=210 - 11-6-24 SSK-P100  SSK-300 SSK-B5-15N
304015 SSK-300 — 12-8-11 SSK-P120  SSK-160 SSK-B5-15N
12-8-14 SSK-P120 SSK-200 SSK-B5-15N
= SSK bracket is different depending on mount type (Vertical or Horizontal). 12-8-17 SSK-P120  SSK-250 SSK-B5-15N
. ) 12-8-22 SSK-P120 SSK-280 SSK-B5-15N
Vertical mount Horizontal mount
(Longer vertical side) (Longer horizontal side) fleeile SERGIC0 EEK200 SR
16-9-18 SSK-160 SSK-250 SSK-B5-15N
16-9-23 SSK-160 SSK-280 SSK-B5-15N
16-9-28 SSK-160 SSK-350 SSK-B5-15N
21-9-17 SSK-210 SSK-250 SSK-B5-15N
I = 21-9-21 SSK-210 SSK-280 SSK-B5-15N
21-9-26 SSK-210 SSK-350 SSK-B5-15N
ronger sée 21-9-31 SSK-210 SSK-400 SSK-B5-15N
[ .

Longer side

SSK-M-3



PKB SERIES

PKB-10PM, 10P

Accessories (Optional parts)

POLE MOUNTING BELT

PKB dimensions

Components

Product no. / Dimensions

Stopper
Belt

PKB-10PM, 10P

POM stopper

PKB-10S

= New shorter belt type PKB-10PM is available for 25 to ¢60mm poles.
Other belt types are for 60 to 400mm poles.
= Designed for one time use only (not reusable).

m Strong stainless steel clamping type and easy installation plastic type are
available.

= Use SSK mounting bracket for installation onto a pole.

PKB-10S, 20S

= Drawings below are reference examples only.
DXF/DWG/PDF drawings available on our website.

L Belt length |

S | =T

PET belt

1500 K

S | =

1~ &

Stainless steel stopper Stainless steel belt

12

PKB-20S

)

1500 |

7 El

Stainless steel belt

POM - Stainless steel SUS304 Black « Barrel finish
PET - Stainless steel SUS430 Gray  Bright Annealed finish

PKB-10PM
PKB-10P
PKB-10S
PKB-20S

23

40

1"

500mm 0.8kN 2
PET 1,500mm 1.3kN 31.8 2
Stainless steel 1,500mm 1.4kN 101.6 2
Stainless steel 1,500mm 2.9kN 182.2 2

PKB-1



RMW SERIES WEATHERPROOF CABLE GLAND

m Weatherproof cable gland equipped with high ultraviolet and degradation
resistant silicone sealing insert and O-ring.

A ‘ K m Recommended to use outdoors where waterproofing is critical.
)))} ) Components u PA = Polyamide
| (No.|  partname | Weer
ER Cap PA66 UL94V-2
n Sealing insert Silicone
[ 3 | Connector PAGE UL94V-2
“ O-ring Silicone
[ 5 | Nut PAG6 ULO4V-2

Technical Data

Operating temperature: -20°C ~ +80°C

‘ Protection class: IP67

< = DXF/DWG/PDF drawings available on our website.

m Lock nut is not included for RMW10S-6.
Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions

O Black @ Light gray Mounting hole m
1 13

RMW8L-2.5B RMW8L-2.5S M8x1.25 ®8.2 2.5 19.5 11.8 13.5 1
RMW8L-4B RMW8L-4S M8x1.25 8.2 25 4 13 19.5 11.8 13.5 1
RMW10S-6B RMW10S-6S M10x1.5 — 3 6 8 20.5 13 14.4 1
RMW10L-6B RMW10L-6S M10x1.5 $10.2 3 6 13 20.5 13 14.4 1
RMW12S-7B RMW12S-7S M12x1.5 ®12.2 3.5 7 © 20.5 16 17.6 1
RMW12L-7B RMW12L-7S M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 1
RMW16S-8B RMW16S-8S M16x1.5 $16.2 4 8 9 23.5 19 21 1
RMW16L-8B RMW16L-8S M16x1.5 ®16.2 4 8 15 24 19 21 1
RMW20S-12B RMW20S-12S8 M20x1.5 $20.2 6 12 10 29 24 26.2 1
RMW20L-12B RMW20L-12S M20x1.5 $20.2 6 12 15 28.5 24 26.2 1
RMW25L-17B RMW25L-17S M25x1.5 $25.2 1 17 15 35 33 36.2 1
RMW32L-21B RMW32L-21S M32x1.5 ®32.3 13 21 15 38 36 39.5 1
RMW40L-27B RMW40L-27S M40x1.5 $40.3 18 27 18 43.5 45.7 50.5 1
RMW50L-38B RMWS50L-38S M50x1.5 ®50.4 27 38 20 50.5 60 66.5 1
RMW8L-2.5B-P RMWS8L-2.5S8-P M8x1.25 ® 8.2 1 2.5 13 19.5 11.8 13.5 100
RMW8L-4B-P RMW8L-4S-P M8x1.25 ¢ 82 25 4 13 19.5 1.8 13.5 100
RMW10L-6B-P RMW10L-6S-P M10x1.5 ©10.2 3 6 13 20.5 13 14.4 100
RMW12S-7B-P RMW12S-78-P M12x1.5 D12.2 3.5 7 © 20.5 16 17.6 100
RMW12L-7B-P RMW12L-7S-P M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 100
RMW16S-8B-P RMW16S-8S-P M16x1.5 ®16.2 4 8 9 235 19 21 100
RMW16L-8B-P RMW16L-8S-P M16x1.5 16.2 4 8 15 24 19 21 100
RMW20S-12B-P RMW20S-12S-P M20x1.5 $20.2 6 12 10 29 24 26.2 100
RMW20L-12B-P RMW20L-12S-P M20x1.5 ©20.2 6 12 15 28.5 24 26.2 100
RMW25L-17B-P RMW25L-17S-P M25x1.5 $25.2 1" 17 15 35 33 36.2 100

RMW-1



RMW series silicone sealing insert weatherproof test report

Object: Cut into a piece of the silicone sealing insert from RMW series and attach it onto an aluminium plate.
For comparison, NBR sealing insert from our RM and EPDM sealing insert from another manufacturer is also attached for comparison purposes.

e \ \
— ==l ¥
Y
Before After
Testing conditions
Equipment : 7.5kW Super Xenon Weather Meter SX75 (Suga Test Instruments Co., Ltd.- http://www.sugatest.co.jp/english/)
Conditions : JIS B7754 : 1991

Testing with an authorized Xenon arc lamp weathering test equipment under the conditions denoted below.
Irradiance : 180W/m? at 300-400nm
Black Panel Temperature : 63+3°C Humidity Range : 50+10%
Cycle Conditions : 120 minutes cycle (18 minutes irradiation + water spray - 102 minutes irradiation)
Time period : 2,000 hours (equivalent to a period of 4 years under natural conditions)
Total radiant exposure : 1296MJ/m’

Test result (visual / touch inspection)
Silicone sealing insert material : No cracks, no gloss transition, no powder - no appearance change at all. Flexibility remains unchanged.

Before After

NBR material from our RM series : Lost glossiness on the surface and material is stiffened.

Before After

EPDM material from weatherproof cable gland of another manufacturer : Cracked, color drastically faded and powder appeared on the surface.

Before

RMW-2



RM SERIES POLYAMIDE CABLE GLAND

S
2 - b s r s
= Low cost cable glands made from polyamide material.

= Wide selection, for M8 ~ M63, suitable for ®1mm ~ ®44 mm cable.

= High oil resistant NBR rubber sealing and O-ring. Components = PA = Polyamide

— Cap PA66 UL94V-2
n Sealing insert NBR
“ Connector PA66 UL94V-2
“ O-ring NBR
[ 5 | Lock nut PA66 UL94V-2

RM dimensions

L H sSw

1

Technical Data

Protection class: IP67
Operating temperature: -20°C ~ +80°C

= DXF/DWG/PDF drawings available on our website.
= Lock nut is not included for RM8S-2.5, 8S-4, and 10S-6 models.

Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions

RM8S-2.5B RM8S-2.5S M8x1.25 19.5 11.8 13.5 1
RM8L-2.5B RM8L-2.5S M8x1.25 $8.2 1 25 13 19.5 1.8 13.5 1
RM8S-4B RM8S-4S M8x1.25 — 2.5 4 7.5 19.5 1.8 13.5 1
RM8L-4B RM8L-4S M8x1.25 8.2 25 4 13 19.5 1.8 13.5 1
RM10S-6B RM10S-6S M10x1.5 — 3 6 8 20.5 13 14.4 1
RM10L-6B RM10L-6S M10x1.5 ®10.2 3 6 13 20.5 13 14.4 1
RM12S-7B RM12S-7S M12x1.5 ®12.2 3.5 7 9 20.5 16 17.6 1
RM12L-7B RM12L-78 M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 1
RM16S-8B RM16S-8S M16x1.5 $16.2 4 8 9 235 19 21 1
RM16L-8B RM16L-8S M16x1.5 $16.2 4 8 15 24 19 21 1
RM20S-12B RM20S-128 M20x1.5 $20.2 6 12 10 29 24 26.2 1
RM20L-12B RM20L-128 M20x1.5 $20.2 6 12 15 28.5 24 26.2 1
RM25L-17B RM25L-17S8 M25x1.5 ®25.2 1 17 15 35 33 36.2 1
RM32L-21B RM32L-218 M32x1.5 ®32.3 13 21 15 38 36 39.5 1
RM40L-27B RM40L-27S M40x%1.5 ®40.3 18 27 18 43.5 45.7 50.5 1
RM50L-38B RM50L-38S M50x1.5 D50.4 27 38 20 50.5 60 66.5 1
RM63L-44B RMG63L-44S M63x1.5 D63.4 37 44 20 53 68 75.5 1
RM8L-2.5B-P RM8L-2.5S-P M8x1.25 8.2 1 2.5 13 19.5 11.8 13.5 100
RM8L-4B-P RM8L-4S-P M8x1.25 8.2 25 4 13 19.5 11.8 13.5 100
RM10L-6B-P RM10L-6S-P M10x1.5 10.2 3 6 13 20.5 13 14.4 100
RM12S-7B-P RM12S-7S-P M12x1.5 ®12.2 3.5 7 9 20.5 16 17.6 100
RM12L-7B-P RM12L-7S-P M12x1.5 ®12.2 3.5 7 14.5 20.5 16 17.7 100
RM16S-8B-P RM16S-8S-P M16x1.5 ®16.2 4 8 9 23.5 19 21 100
RM16L-8B-P RM16L-8S-P M16x1.5 16.2 4 8 15 24 19 21 100
RM20S-12B-P RM20S-128-P M20x1.5 ©20.2 6 12 10 29 24 26.2 100
RM20L-12B-P RM20L-12S-P M20x1.5 ©20.2 6 12 15 28.5 24 26.2 100
RM25L-17B-P RM25L-17S-P M25x%1.5 25.2 1" 17 15 35 33 36.2 100

RM-1



RPG SeERIES POLYAMIDE CABLE GLAND

!v .
. [\

"

\

= Inexpensive cable glands made from polyamide material with PG

Q*\

are

threading.
9 Components = PA = Polyamide
" Poh ollresistant N rubher seaiing nd 0-ing. [No | Partname | wWatera |
art name
u |P67 protection class. “
Cap PAG6 UL94V-2
n Sealing insert NBR
RPG dimensions [ 3 | Connector PAG66 UL94V-2
[ 4 | O-Ring NBR
N ow [ 5 | Lock-nut PAG6 UL94V-2

Technical Data

Protection class: IP67
Operating temperature: -20°C ~ +80°C

HE

= DXF/DWG/PDF drawings available on our website.

Product no. / Dimensions

RPG7-7B RPG7-7G 12.5 ®12.7 3 20.5 17.7 1
RPG9-8B RPG9-8G PG9 15.2 P15.4 4 8 9 23.5 19 21 1
RPG11-10B RPG11-10G PG11 18.6 ®18.8 5 10 9 26 22 24 1
RPG13.5-11B RPG13.5-11G PG13.5 20.4 $20.6 6 1" 10 29 24 26.4 1
RPG16-14B RPG16-14G PG16 225 ©22.7 8 14 10 30 26.7 29.5 1
RPG21-18B RPG21-18G PG21 28.3 $28.5 13 18 12 35 33 36.5 1
RPG29-25B RPG29-25G PG29 37 ®37.2 18 25 12 415 42 46.5 1

RPG-1



Accessories (Optional parts)

SP SERIES SEALING PL

I
\M"ir/

-

-
[,

m Sealing plug for cable glands when not in use.

= Maintain a waterproof seal when plugged into the sealing insert
on cable glands.

|

\

|

\
D1

— — 1——

= Material : Nylon

Product no. / Dimensions

SP-12 10.2 {155 RMW12, RM12, RMW16, RM16, RPG7, RPG9

SP-16 15.6 9.5 15.5 RMW20, RM20, RPG11, RPG13.5 10
SP-20 19.6 13.5 16.5 RPG16 10
SP-25 244 17.5 17 RMW25, RM25, RMW32, RM32, RPG21 5
SP-40 32.5 245 17.5 RMW40, RM40, RPG29 5
SP-50 47.2 38.9 17.6 RMWS50, RM50 5

SP-1



AG SERIES HIGH WATER PROTECTION CABLE GLAND

= High water protection IP68 (1bar / 30min) polyamide cable gland.
= Wide selection, for M8 ~ M50, suitable for ®2.5mm ~ ®42 mm cable.

= Super tough and superior heat resistant PA6GF (glass fiber filled PA6) material on cap and Operating temperature: -20°C ~ +100°C

connector.
= Safer halogen free, eco-friedly product.

AG Series

Thicker sealing insert evenly hold a cable by having a larger holding
area.
Remains durable even after repeated tightening / loosening.

Technical Data

Protection class: IP68 1bar / 30min

Compliant with EN50262 Ver. A

Lamellar insert type

If over-tightened, it can cause the rubber bush or cable to deform, which
can allow water to seep in.

AG-1

L Y

v —
& 7=

Components = PA6GF = Polyamide6 Glass Fiber Filled

[No. | parname | e
EN Cap PA6GF

n Sealing insert TPE

Connector PA6GF

[ 4 | Lock nut PAG

m | ock nut is not included for M8 and M10 sizes.
Please drill a proper thread hole into the enclosure for installation.

® Proper tightening torque varies by each cable diameter.
Tighten the cap until top of the sealing insert forms a small
bead between the cap and the cable.




= No optional sealing washer is required when installing on an even surface Waterproof rib
because of the built-in waterproof rib.

= An optional sealing washer is required when installing on an uneven surface.
(See page AGP-1 for more information on the optional sealing washer)

17

PN

Sealing washer / Sealing washer / g o

AG dimensions = DXF/DWG/PDF drawings available on our website.

m Lock nut is not included for M8 and M10 sizes.
Please drill a proper thread hole into the enclosure for installation.

Product no. / Dimensions

ack o
— 25 815 10 17 12 —

AG8-3.5B AGB8-3.58 M8x1.0 13.2 — 1
AG8-5B AG8-5S M8x1.0 = 3.5 4.7 10 17 12 13.2 — — 1
AG10-6B AG10-6S M10x1.0 — 4 6 10 19 15 16.5 — — 1
AG12-5B AG12-58 M12x1.5 ®12.2 3.5 4.7 12 235 17 18.7 18.8 5 1
AG12-6.5B AG12-6.58 M12x1.5 ®12.2 5 6.5 12 23 17 18.7 18.8 5 1
AG12-8B AG12-8S M12x1.5 ®12.2 6.5 7.8 12 23 17 18.7 18.8 5 1
AG16-10B AG16-10S M16x1.5 $16.2 8 10 12 26 21 231 24.3 5] 1
AG20-15B AG20-15S8 M20x1.5 $20.2 1" 15 13 27 27 295 29 6 1
AG25-16B AG25-16S M25x1.5 ®25.2 12.5 16 13 34 34 37.4 36 6.7 1
AG25-20B AG25-20S M25x1.5 $25.2 16 20 13 34 34 37.4 36 6.7 1
AG32-25.5B AG32-25.58 M32x1.5 $32.3 21 2515) 13 36 41 45.6 46 8 1
AG40-28.5B AG40-28.5S M40x1.5 $40.3 24 28.5 15 41 50 55.4 53.5 9 1
AG40-33B AG40-33S M40x1.5 ©40.3 28.5 33 15 41 50 55.4 53.5 © 1
AG50-37B AG50-37S M50x1.5 $50.4 33 37 16 45 60 65.5 66 9.6 1
AG50-42B AG50-42S M50x1.5 ©50.4 37 42 16 45 60 65.5 66 9.6 1

AG-2



AGP SERIES

SEALING WASHER for AG * AGSP

YeXoJol®

m Sealing washer for AG series.

= Made from oil resistant NBR material.

m Use in the case of installation on a rough or uneven surfaces.
m Selectable in 7 sizes (from M12 to M50)

m Sealing washer is not necessary for installation on flat surfaces.

AGP Dimensions

D1

ES

D2

BN

]

u Material : NBR

Product no. / Dimensions

20 12 1.6 10

AGP-12 AG12
AGP-16 235 16.5 20 AG16
AGP-20 29 20 2.0 AG20
AGP-25 37 25 20 AG25
AGP-32 44 32 22 AG32
AGP-40 52 40 22 AG40
AGP-50 64 50 3.1 AG50

AGP-1



RSP SseERIES STRAIN RELIEF CABLE GLAND

/ RSP dimensions

9’/«@ ~ % LT?MQWE

u DXF/DWG/PDF drawings available on our website.

Components = PA = Polyamide
No. | Patname | Moral |
Technical Data EN Strain relief cap PAGG (UL94V-2)
- Sealing insert NBR
Protection class : IP67
Temperature range -20°C ~ +80°C n eleciol (PSS (UL
B O-ring NBR
[ 4 | Lock- nut PA66 (UL94V-2)

Product no. / Dimensions

RSP12-6B RSP12-6S M12x1.5 912.2 1
RSP16-8B RSP16-8S M16x1.5 916.2 4 8 9 69 19.5 21 1
RSP20-11B RSP20-11S M20x1.5 920.2 6 1 10 82 24 26 1
RSP25-16B RSP25-16S M25x1.5 925.2 1" 16 12 102 33 36 1

RSP-1



AGM serRiEs METAL CABLE GLAND

= High water protection IP68 (1bar / 30min) metal cable gland.
= Wide selection, for M6 ~ M50 and PG7 ~ PG16.
Suitable for ®2 mm ~ ®42 mm cable.

Technical Data

Protection class: IP68 1bar / 30min
Operating temperature: -40°C ~ +100°C
Compliant with EN50262 Ver. A

AGM Series Lamellar insert type
Thicker sealing insert evenly hold a cable by having a larger holding area. If over-tightened, it can cause the rubber bush or cable to deform,
Remains durable even after repeated tightening / loosening. which can allow water to seep in.

u Proper tightening torque varies by each cable diameter.

Tighten the cap until top of the sealing insert forms a small
gy \ bead between the cap and the cable.

Components

No.|  Partvamo | Wawris | Cobor/imsh
n Cap Brass Nickel plated

Bl scalinginsert TPE Black

n Connector Brass Nickel plated

Bl oing NBR Black

n Lock nut Brass Nickel plated

AGM-1



AGM dimensions

Product no. / Dimensions

C I 1T 1

= DXF/DWG/PDF drawings available on our website.

/C\ |

Cable range

AGM®6-2.5 M6x1.0 — 6.2 2 25 8 12 8 9 10 2.8 1
AGM6-3 M6x%1.0 — 6.2 25 3.0 12 8 9 10 2.8 1
AGM6-3.5 M6x%1.0 — 6.2 3.0 &5 12 8 9 10 2.8 1
AGM8-5 M8x1.25 — 8.2 &5 4.7 10 14 " 12 12 3 1
AGM10-6 M10%1.5 — ©10.2 4.0 6.0 10 15 13 14.3 14 2.8 1
AGM12-8 M12x1.5 — ©12.2 6.5 8.0 10 17 15 16.5 16.5 2.8 1
AGM16-10.5 M16x1.5 — ®16.2 8.0 10.5 10 21 18 20 21 3 1
AGM20-15 M20x1.5 — ®20.2 11.0 15.0 10 23 24 26.5 26.5 85 1
AGM25-20 M25x1.5 — ©25.2 16.0 20.0 1" 28 30 33 33 4 1
AGM32-25.5 M32x1.5 — ©32.3 21.0 25.5 13 29.5 36 39.5 39.5 4 1
AGM40-28.5 M40x1.5 — ©40.3 24.0 28.5 13 32 46 50.7 51 5| 1
AGM40-33 M40x1.5 — ©40.3 28.5 33.0 13 32 46 50.7 51 5] 1
AGM50-37 M50x1.5 — ®50.4 33.0 37.0 14 34 55 59.7 60 5.5 1
AGM50-42 M50%1.5 — ®50.4 37.0 42.0 14 34 55} 59.7 60 515} 1
AGM7PG-5 PG7 12.5 D12.7 315 5.0 6 17 15 16.5 16.5 8 1
AGM9PG-6 PG9 15.2 ®15.4 4.5 6.0 6 20 18 20 20 3 1
AGM11PG-8.5 PG11 18.6 ®18.8 515 8.5 6 21 21 23 235 3 1
AGM13PG-11 PG13 20.4 ®20.6 8.0 11.0 6 21 24 26.5 25.5 3 1
AGM16PG-14.5 PG16 22,5 ®22.7 1" 14.5 6 23 24 26.5 29 3 1

AGM-2



AGE serRilES EMC SHIELDED CABLE GLAND

= Optimal contact spring provides excellent shield contact and the smallest possible transfer
impedance.

= Clawed lock nut makes a good EMC shield contact possible on conductive enclosures.

m Shape of the contact spring not only allows for a large clamping range to the shield but also
enables easy and faster installation and re-installation.

m 2-piece detachable sealing inserts can be adapted to the wider existing cable diameter on site.

(AGE12 available only with 1-piece sealing insert)
Cable Range

Assembled Detached

AGE16-10.5
AGE20-15
AGE25-20
AGE32-25

=

W ’ \\ ALY
l i ="}

Components

o |~ pamame | Weei | Colrifinen |
n Cap Brass Nickel plated

[ 2 | Sealing insert TPE Black

“ Connector Brass Nickel plated

n Contact spring Stainless steel Unfinished

B O-Ring NBR Black

“ Lock-nut Brass Nickel plated

AGE-1

@b

EMC
Shielding
Effects

Technical Data

Protection class : IP68 2bar / 30min, IP69K
20m depth immersion in 30 minutes
Operating temperature : -60°C ~ +100°C
Compliant with IEC62444 Var. A

Assembled Detached

® 6~ 75 ® 75~d105
® 8~d10.5 $10.5 ~ P15
P12.5~ D15 P15 ~ ®20
P17 ~ 20 ®20 ~ d25

Cross-section view



Remove the contact spring from the connector. Install the connector onto the enclosure. Strip the cable.

B

o=
2
+

=

Clip the contact spring on the shielded cable. Pass the cable through the Sealing insert and Tighten the cap to complete.

cap.
AGE dimensions

o i O] <
Product no. / Dimensions

Product no. L A Pack of
10 22 15

m DXF/DWG/PDF drawings available on our website.

AGE12-5 M12x1.5 ®12.2 3.5 5.0 16.5 16.5 3.5 1
AGE12-6.5 M12x1.5 ®12.2 5.0 6.5 10 22 15 16.5 16.5 3.5 1
AGE16-10.5 M16x1.5 $16.2 6.0 10.5 10 25 18 20 21 3.5 1
AGE20-15 M20x1.5 ©20.2 8.0 15.0 10 27 24 26.5 26.5 4 1
AGE25-20 M25x1.5 $25.2 12.5 20.0 1 33 30 33 33 4 1
AGE32-25 M32x1.5 $32.3 17.0 25.0 13 34 36 39.5 39.5 5 1

AGE-2



AGH seERiES  HEAT RESISTANT METAL CABLE GLAND

Heat
Resistant

m Heat resistant sealing insert made of FPM material. Resistant up to 200°C Technical Data

= IP68 1bar / 30min high performance waterproof cable gland. Protection class : Protection class IP68 1bar / 30min

10m depth immersion in 30 minutes
Operating temperature : -40°C ~ +200°C
Compliant with EN50262 Var. A

AGH series Conventional cable gland
Thicker sealing insert evenly clasp onto the cable by having a larger area. If over-tightened, it can cause the rubber bush or cable to deform,
Remains durable even after repeated tightening / loosening. which may allow water to seep in.

é\ \
= Tightening torque varies depending on the cable diameter.
Tighten until the sealing insert protrudes slightly from the cap.

Components

No.| Partnams | Materis | Color /Finish |
n Cap Brass Nickel plated
n Sealing insert FPM Green

n Connector Brass Nickel plated
Pl oring FPM Green

“ Lock-nut Brass Nickel plated

AGH-1



AGH dimensions m DXF/DWG/PDF drawings available on our website.

C I 1T 1

I
N

LIl IT ]

Product no. / Dimensions

Product no. L Pack of
15 13

AGH10-6 M10x1.5 ®10.2 4.0 6.0 10 14.3 14.2 3 1
AGH12-8 M12x1.5 ®12.2 6.5 8.0 10 17 15 16.5 16.5 1
AGH16-10.5 M16x1.5 ®16.2 8.0 10.5 10 20 18 20 21 3 1
AGH20-15 M20x1.5 ©20.2 11.0 15.0 10 23 24 26.5 26.3 3.5 1
AGH25-20 M25x1.5 $25.2 16.0 20.0 1 27 30 33 33 1
AGH32-25.5 M32x1.5 ®32.3 21.0 25.5 13 28.5 36 39.7 39.7 1

AGH-2



Accessories (Optional Parts)

PMF-6B SMALL PROTECTIVE VENT

Application example

= Small and screw-in protective vent suitable for compact, and hand-held type devices.

u |P68 protection class (water depth 2 meters / 60 mins) and -40°C ~ +150°C operating temperature range allows it to be used in various
environments.

m Suitable for enclosures with capacities of 2.0 litres or under.

m For outdoor use, installation on the side of the enclosure unit is recommended.

PMF-6B dimensions Hole milling drawings Installation drawings

Outside Inside

[ Material thickness
=
@

Please make a thread-hole

W / for installation.

M6 x 0.75

M6 x 0.75

Technical Data

IEC60529 (Protection class test) : IP66 « IP67 « IP68

IEC60068-2-1, 2, 14 (Heat resistance test) : -40°C ~ +150°C
Certifications IEC60068-2-78 (Humidity test) : 85°C « 85% humidity « 1000 hours

IEC60068-2-64 (Vibration test)

UL94V-0 (Flame-resistant) « UL746C f1

Product no. / Dimensions

I . T N

PMF-6B PA6 (Body) * PA66 (Cap) PTFE Silicone M6 x 0.75 —




[TAKACHI

Accessories (Optional Parts)

1P68

PMF-12M STAINLESS STEEL PROTECTIVE VENT

Application example

m Stainless steel protective vent for superior durability and chemical resistance.

m |P68 protection class (water depth 2 meters / 60 mins) and -40°C ~ +125°C operating temperature range allows it to be used in various
environments.

m Suitable for enclosures with capacities of 20 liters or under.

m For outdoor use, installation on the side of the enclosure unit is recommended.

PMF-12M dimensions Hole milling drawings Installation drawings

For use without nut Outside Inside

-
| Material thickness

il Nut
. =
o
- . —
— Please make a thread-hole for
=] > installation if material thickness
) ) [5) is more than 4.0mm.
e [ &
(]
— m
()

: 3 60° =

14.15

20
M12 x 1.5
D14.3
®10.5
M12 x 1.5

= While ®12.2mm through-hole is sufficient for
installation, 60° angle tapered hole is recommended

to prevent deformation of the O-ring. = |f used with a lock nut, material thickness should not exceed 4.0mm.

Technical Data
1600ml / min (dp = 7 kPa)
06~12N+*m

IEC60529 (Protection class test) : IP66 « IP67 « IP68 « IP69K
Certifications IEC60068-2-1, 2, 14 (Heat resistance test) : -40°C ~ +125°C

IEC60068-2-78 (Humidity test) : 85°C * 85% humidity « 1000 hours
IEC60068-2-64 (Vibration test)

Product no. / Dimensions

pmane T g

PMF-12M Stainless steel [PFE Silicone Brass * Nickel plated M12 x 1.5 ®12.2

PMF-2



[TAKACHI

Accessories (Optional Parts)

PMF SERIES PROTECTIVE VEN

L]
o —
‘h ,

= Protective vents prevents the ingression of a variety of contaminants, such as water, dust and other particules while allowing water vapor
molecules to diffuse through the microporous membrane.

1P68, 6

Application example

= Equalize pressure and reduce condensation by allowing airflow into and out of sealed enclosures.

= With an IP68 protection class (water depth 2 meters / 60 mins) and -40°C ~ +125°C operating temperature range, it can be used in harsh
environmental conditions.

= PMF-6B works up to 2 liters capacity enclosures. Whereas, PMF-12 models work for up to 5 liters and PMF-12HS models work for up to 50 liters.
m For outdoor use, more efficient to install on the side(s).
= Recommended to use for industrial, electric, electronics purpose only.

PMF dimensions Hole milling drawings Installation drawings

= Drawings below are reference examples only.
DXF/DWG/PDF drawings available on our website.

o
~
o
o ! ]
&l € Outside Inside
4 gl =
gl 2 Material thickness
= o =]
w0
’ —B E .
r r | Please make a thread-hole
) "_ S a for installation if material
g 3l _1 © b (] thickness is more than 4.0mm.
< o 0o o
= | | e S
s < .
|:\ ° _—
N R =]
10(7)
5 o (]
15.5(11.5) e 60°(45°) I
() values are for PMF-6B. = While ®12.2mm through-hole is sufficient for )
Lock nut is not available for PMF-6B. installation, 60° angle tapered hole is
recommended to prevent deformation of the = If used with a lock nut,
O-ring. material thickness should not exceed 4.0mm,

and ®12.2mm through-hole is sufficient.

Technical Data

I S I S A S
Airflow 300ml / min (dp = 7 kPa) 450ml / min (dp = 7 kPa) 4000ml / min (dp = 7 kPa)
Recommended Torque 02~04N+m 06~0.8N+m 06~08N+m

IEC60529 (Protection class test): IP66 < IP67 « IP68 « IP69K (Not for PMF-6B)

IEC60068-2-1, 2, 14 (Heat resistance test): - 40°C ~ +125°C (~+150°C for PMF-6B)
Certifications IEC60068-2-78 (Humidity test): 85°C « 85% humidity * 1000 hours

IEC60068-2-64 (Vibration test) (PMF-6B only)

UL94V-0 (Flame-resistant) « UL746C f1

Product no. / Dimensions

Product no.

PA6 (Bod
= D PMF-6B (Body) PTFE Silicone nla M6 x 0.75 = =
PAG6 (Cap)
PMF-128 PMF-12B PAG PTFE Silicone PAG (UL94V-2) M12x 1.5 122 17
PMF-12HAS PMF-12HAB PAG PTFE Silicone PA6 (UL94V-2) M12x 1.5 ®12.2 17

PMF-3



	AW
	AW
	SSK-M

	SSK-M-2



